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5 il. (a) (i) Equationof & : x*+(y-2)"=4
{(a) 100xcm

() B=(0,4)

(b)y (i) 657cm’ Equation of L : y=2x+4
(i) 10 3 Ly =25
— T
" 13 ¢ y=2x+4
x? +(2x+4-2)* =25
5x* +8x—21=0
@ G.-D (Sx—T)(x+3)=0
(b) 3x+2p>7 x=% or 3
3x=-5y=>-7 7 34
D=(L, 2%y, R=(-3,-2
2x—y <7 =075 ( )
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12. (@) (1) . Table 1 (Mr. Chan) B
Month Iioen(g;te:}rf:zs:t | Loan(g)cpald %2;2?:;122%
1 750.00 8250.00 41750.00
2 626.25 8173.75 3337625
3 500.64 8499.36 24 876.89
4 373.15 8 626.85 16 250.04
5 24375 §756.25 7493.79
6 112.41 - 7493.79 0.0

(i) Amount of last payment = $7606.20

(iii) Total interest earned by the bank = $2 606.20

(b) Table 2 {Mrs. Lee)
Month Instalment Loan Loan Repaid | Outstanding, 1
)] Interest ($) %) Balance (8}
1 9000.00 750.00 8250.00 41 750.00
2 10 800.00 626.25 10173.75 31576.25
3 12 960.00 473.64 12 486.36 19089.89
4 15552.00 286.35 15 265.65 3824.24
5 3881.60 57.36 3824.24 0.0¢
(c) Mr. Cheung saves $ 1 2000 each month.
Month |  Savings (§) mstalment (8) | Balance ($)
1 12000.00 9000.00 3 000.00
2 15 000.00 10 800.00 4200.00
3 16 200.00 12 960.00 3240.00
4 15240.00 15552.00 -312.00

Mr. Cheung will not have enough savings to pay the 4th instalment.
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13.

(a) Let F =kxt+kyt? for some constants ky and k&, .

(b)

{c)

Then O = 20000 + & xt + k,t’

Hence {

9:5](] +4k2
Thy =35 or 28k, =-112

k=5
k2=ﬁ4

© = 20000 + 5xt — 4¢*

(i)

(it}

When x =82 and ¢ =45, then
Q@ = 20000+ 5(82)(45) — 4(45)°

= 30350

When () =30350and x =78, then
30350 = 20000 + 5(78)¢ — 4¢7

447 —390¢ + 10350 = ¢

28— 195 +5175=0

A = 195" ~ 4(2)5175)
=-3375

There is no real solution for +.

Thus it is not possible to achieve the same value of (} in (i) by varying &

When x = 80,

1%

I

20000 -+ 5(80)r — 412
20000 - 4(¢2 — 100¢)
30000 — 4(¢ — 50)°

() is maximum when /= 50

Thus the amount of time required is 50 seconds.

30600 = 20000 + &, (85)(40) + &, (40)°
28100 = 20000 + &, (7S)(60) + k, (60)°



14. {a) The unclearly printed number in Table 3 is 23.7 .

(b) There are rounding off errors.

(¢) (i) The c.f table of the distribution of x (x <1000} for boys
x(<) c.f. '
0 70
200 87
400 135
600 218
800 310
1000 346
(ii) 1 f - : N
500 + | + girls
R hdisdicace T
: 2151 boys
g : J’J 'E: :
300 i N
= i B REF 14
2m S = -
;
". . -
100 i :
0 200 400 600 800 1000

11

(d)

(iii) The median of x for boys =490
The median of x for girls = 410

{iv) From the cumulative frequency polygons, there are
265 boys and 390 girls spending up to $700

The total number = 265+390 = 655

From Tables 3 and 4, 20.0% of boys and 15.0% of girls did not spend any
money on buying clothes for Christmas '
In this survey, more boys did not spend any money on buying clothes
for Christmas,

We have to consider the percentages instead of the frequencies because the
number of boys and the number of girls in this survey are not equal.



CC’ = 500sin30° =250 (m) = 2100 (cm?)
(b) Letthe inclination of BO with the horizontal be o i)y Capacity = 20x30xl§
- 250 = 9000 (cm’)
SN = m )
=14.5° by () tang@ - -=
24 (by (i) tan 0
1
© A0 = 10007 +2000% ~2(1000)(2000) cos 30° =
~ 1239.31 0o 26.6°
=~ 1240

(i) If tanf = El , then

A0 = J(AO)? (0O |
2 (30)30 tan 020)

I’,

J(12393 1) - 250y}
1 t
1213.83 - (B0X30X)20)

s = 3000
(A0 +(TO")

1

[

AT

2 ' 2 (it If ¥ = 6750, then
J(123931)7 - (250)2 +(300) 1

i
1250.36 7 (19X
~ 1250 (m) tan & = |
=45

1!

I3

s
== 3(20) = 9000 - 6750
né

(d) Route | takes (@Q + 60] s~ 3393 ¢

03 (¢) Suppose water is poured out by tilting the edge A8 and the inclination
Route [ takes (@Qp 4 ];&lﬂ g~ 2891 s of AE with the horizontal is ¢.

08 - Then tang = 1>_3
Hence route 11 takes a shorter time. 20 4

tan ¢ > tan &, ¢ is larger than the value of & in (b)(D).
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